Maths Code Crackers | Year 3 | Money | Questions
Big Garden Birdwatch (Last Weekend in January)

The Big Garden Birdwatch is an activity organised each year by the RSPB. This encourages people to
watch and count the birds that land in their garden or local park for an hour. By sending in the total
count, the RSPB has been able to gather and compare useful data about the bird population. Through
this, they have noted that since 1979 there has been a decline in the number of song thrushes.

Solve each question below. Then use the key to find the answer to the joke. Letters can be used
more than once.

1. £f4=_p 2. £20-£5=£Ff__ 3. Lunch costs £4.25. David
pays with a £10 note. What
is his change in £7

4.6,921p=£__ 5.£7.21=_p

Did you know?

Red kites were almost extinct in
the UK by the early 1900s. In 1989,
a re-introduction programme was
6. £1=_ p 7. £5+£0.50+25p=£ __ set up and their numbers have
been steadily increasing ever

since.

8.£3+£2+52p=_p 9.284p=£__ 10. Kelly buys sweets costing
£1.80. She pays with a £20
note. What is her change

in£?
11. £81.20=_ p
A B C D E F G H | J K L M
2.84 |69.21 | 19.20 | 20.50 | 5.75 5.85 10 15 10.50 552 28.40 721 352
N (o) P Q R S T U \) |'}'} X Y Z
5.52 16,921 6.85 252 284 8,120 400 100 6.75 25 4,000 [ 18.20 | 10.10

What type of birds are always sad?

1 2 3 4 5 6 7 8§ 9 10 11
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1. f£4=_p 400 T

£20-£5=£__ 15
3. Lunch costs £4.25. David pays with a £10 note. What is his

changein £7 5.75 E
4. 6,921p=£__ 69.21 B
5. £721=_p 721 L
6. fl1=__p 100 U
7. £5+£0.50+25p=£__ 5.75 E
8. £3+£2+52p=_p 552 J
9. 284p=f£__ 2.84 A
10. Kelly buys sweets costing £1.80. She pays with a £20 note.

What is her change in £? 18.20
11. £81.20=__p 8,120

What type of birds are always sad?

The blue jays.

For more free resources and intervention support go to thirdspacelearning.com



